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Aly-1)+(1-y)

O (x+y)(x-y)(x+1) @ (x+1D)(x-y)-1)
® (x+1)y-1(x+y) @ (x+Dx-Hr-1)
® x2(y-1)



2 5 27ax? — 12ay? € "2 7| QALE3) 3+ A7
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® 3(9ax? - 4ay?)



3. (a+b)a+b-3)+2E JATEMNHH (a+b-m)(a+b-n) D™,
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o Q2o ol o8 B4e 5 2H? (H,a>0,b>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x-2y+1)

@® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a?-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



6. 2x°-8xy? & As-ESfotH?

@O x(x+2y)(x—2y) @ 2x(x+2y)(x—2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)






8. T3 (x?-2x-5)(x*-2x-6)-6°] (x+a) (x+b) (x+¢)(x+d)
2RJ5EN D, a+b+c+d o 2?7

© 4 @ -10 ® 7 @ 10 ® 4



9. (a+b+2)?*-(-a+b-2)* & A5ElsHA?

@® 2(a+b+2) @ 4(a-b-2) @ 4da(b+1)

@ 4a(b+2) ® 4b(a+2)



10.  x®—4xy+3y?—6x+2y-16 = AFE] SFF Y (x+ay+b) (x+cy+d)
Vet ol W, a+ b+ c+d 9 Ze?

@® -10 @ -9 ® -8 @ -3 ® 2
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14. 65x 63+ 66 x 66 — 66 X 64 — 64 x 64 2] ZH-S Fo}H?

D1 @ 164 ® 131 @ 132 ® 140
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19. 16x*-81y* = (Ax2+By?)(Cx+Dy)(Ex+Fy) 1 & tf, A+ B+C+
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x—a® & deEdetde W, tha <H7]> F

H7
O x+1 O a+1
© x*+1 ® a-1
ONQN®) ONQNG) ONGNE)

@ 6,6 ® 9,06
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262 + 402 + 492 — 162 — 302 — 392 = 7:" o}-oﬁla]—
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24. b =a+2c- V3 LW, a®+ b*+ 4c¢? — 2ab — 4bc + 4ca ©] FE
otef=t,

5 J=X
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25. x+y= V3 x—y= V2 Lo, 2 -y +4x—4y°| & F51H?

O V6442 @ V6-4v2 ® 2vV6+ V2
@ 3v6-2+v2 ® 4V6-5v2



